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sage: 3 + 5
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sage: 57.17100
4.60904368661396e175

F£ Sage tE— 2 x 2 FE R,

sage: matrix ([[1, 2], [3, 411)"(-1)
[ -2 1]
[ 3/2 -1/2]

X HLFATTN— ] B R A T B2

sage: x = var('x') # GlEHFETE

sage: integrate(sgrt(x) * sqgrt(l + x), x)

1/4*% ((x + 1)7(3/2)/x7(3/2) + sqgrt(x + 1)/sqrt(x))/((x + 1)"2/x"2 - 2*(x + 1)/x + 1)
- 1/8*log(sgrt(x + 1)/sqgrt(x) + 1) + 1/8*log(sgrt(x + 1)/sqrt(x) - 1)

X HLFATiL Sage fiF—A~ "R T FE. 7E Sage W', FF5 == FoRAHEE

sage: a = var('a'")

sage: S = solve(x"2 + x == a, X); S
[x == —-1/2*sqgrt(4*a + 1) - 1/2, x == 1/2*sqgrt(4*a + 1) - 1/2]

R R — AT,

sage: S[0].rhs() # FAEMAN
-1/2*sqrt (4*a + 1) - 1/2

Sage 24 ZR AT DAZ il 2% Fh i BR KK

[sage: show (plot (sin(x) + sin(l1.6*x), 0, 40)) ]
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[sage: m = random_matrix (RDF, 500)

Sage (Lt — A B RE VT3 AR FERO AR AE (B2 R B AT

sage: e = m.eigenvalues() # K#4 1 %

sage: w = [(1, abs(e[i])) for i in range(len(e))]

sage: show (points (w))
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sage: factorial(100)
933262154439441526816992388562667004907159682643816214685929638952175999932299156089414639761565
—18286253697920827223758251185210916864000000000000000000000000

sage: n = factorial (1000000) # K% 1 #
sage: len(n.digits())

5565709
TR 7 #YHT 100 fiz.

sage: N(pi, digits=100)
3.1415926535897932384626433832795028841971693993751058209749445923078164062862089986280348253421
17068

il Sage Xf— A" o WA IAT R A0 .

sage: R.<x,y> = QQ[]
sage: F = factor(x"99 + y~99)
sage: F
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(# E30)
(x + y) * (x"2 - x*y + y"2) * (x°6 - x"3*y"3 + y"6) *
(x*10 - x"9*y + x"8*y"2 - x"7*y"3 + x"6*y*4 - x"5*y"5 +
XMNFyNe — xMN3FyNT 4+ xN2Fyt8 - x*yr9 + yn10)
(x720 + x"19*y — x"17*y"3 - x*16*y"4 + x*14*y"6 + xM13*y"T -
xM11*yr9 = xM10*y~10 - xMN9*y~1l + xMNT*yN13 + xMN6rytl4 -
xMFyr16 - xM3* yN1LT 4+ x*ytN19 + yh20) * (k760 + xN57*yn3 -
X"51*y"9 — x"M48*yN12 + xMN42*y"18 + x"39*yt21 - x"33*y"27 -
x"30*y"30 — x"27*y"33 + x"21*y"39 + xM18*yr42 - xN12*yn48 -
x"9*y~51 + x*3*y"57 + y*60)
sage: F.expand()
x*99 + y*99

Sage W[ DATE 1 B TS thH— 10 AHBA TE R P Iy s

sage: z = Partitions(1078).cardinality() # K% 0.1 #
sage: z
1760517045946249141360373894679135204009. ..

Sage ;2 FL Fa etk i T IREA AT -
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